2

(3] %A

AKIBE MR D A E Fr A

(1) BEYEFROMERA

O JFK
% 7K F A H H28.4.13 | H28.5.16 H28.6.15  H28.7.27 | H28.8.24
X 22 & & & & &
= iR (‘C) 9.9 20.8 19.9 25.1 27.3
7K =) (‘C) 13.4 13.9 16.0 19.5 19.2
— 5 gl (f# /mL) 0 10 16 20 84
X W (MPN/100mL) 6 5 2 2 19
I RKRITUDAERTZONLEDY (mg/L) — <0.0003 — - —
KB K O F o b A& W (mg/L) — | <0.00005 — - —
L v Kk Y E O AW (mg/L) — <0.001 — — —
m KX O F o b A W (mg/L) — <0. 001 - — —
t # K X 2 o A W (mg/L) — <0. 001 - — —
A A - N .| (mg/L) — <0. 005 — — —
i fid 1S 5 = % (mg/L) — <0. 004 — — <0. 004
T A A A ROk T v (mg/L) — <0. 001 — — —
HHREEELOCEHMBESE R (mg/L) — 0.72 — — 1.7
7 v F K O ZF 0 b AW (mg/L) — 0.08 — — 0.08
r v F K OE O AW (mg/L) — 0.02 — - —
| % 1k R F# (mg/L) — | <0.0001 - — —
1, 4- v 7 Bs Va NE (mg/L) — <0. 001 — — —
vZA-,2-Y /7 muxF Ly g
o x-1,2-YV 7 mao=F L (mg/L) —| <0.0002 — — —
DA = =4 A 4 NE (mg/L) — <0. 0001 — — —
> N 5 / momrR = F L v (mg/L) — <0. 0001 — - —
Y /7 @ omr x F L v (mg/L) — <0. 0001 — — —
~ N + N (mg/L) — | <0.0001 — — —
% F 1 (mg/L) - - - - -
7 = = i3 IS (mg/L) - — — — —
4 i =4 N JL N (mg/L) — — — — —
¥ 7 = = i3 1S (mg/L) — — - - -
Y J v £ 7 moua A K v (mg/L) — — — — —
B F 1 (mg/L) - - - - -
w0 U N m X H v (mg/L) - - - - -
k ) v = =S (3 (mg/L) — — - - -
7 m E Y 7 v owu XK v (mg/L) - - - - -
=7 o = N JL A (mg/L) — — — — —
N Y N S “ e N (mg/L) — — — — —
WO k™ o A W (mg/L) — <0. 005 - — —
TNI=U AR ZEDONLEY (mg/L) — 0. 01 — — —
% K O 2 o b A& W (mg/L) — <0.01 — — 0.02
il K O F o v & W (mg/L) — <0. 01 — — —
T PV T AEVYEZEOLAEY (mg/L) — 6.4 — — —
~ v kO E O E WY (mg/L) — <0. 005 — — <0. 005
H 1k L) 4 7+ N (mg/L) — 2.8 — — 2.2
HIVT T L, SR N () (mg/L) — 52 — — 38
75 7% % B L (mg/L) — 99 — — —
b2 4 4 v K om & A (mg/L) — 0. 01 — — —
¥ = %+ s 3 N (mg/L) — | <0. 000001 — — —
2- X F L A4 VR F — b (mg/L) — | <0. 000001 — — —
¥ A4 A v K om E M A (mg/L) — <0. 005 — - —
7 - ) — JL HA (mg/L) <0. 0005 — — —
A (&A% K FE (T0C) © &) (mg/L) 0.4 0.4 0.6 0.5 0.7
p H 1B 7.5 7.4 7.4 7.3 7.3
% _ _ _ _ _
B X RS RS RS HE5L HEEL
(& s (F5) 0.8 0.8 1.2 0.9 2.2
& i3 (B£) <0.1 <0.1 <0.1 <0.1 0.4
J3 B #H S (mg/L) — — — — —

- 149 -




H28.9. 14

H28.10. 19

H28.11. 14

H28.12. 19

H29. 1. 16

H29. 2. 13

H29. 3. 21

AN

(55}

i

(55}

21.8

7.2

19.3

4.
3

— =]

5.8

15

<0. 0003

<0. 00005

<0. 001

<0.001

<0.001

<0. 005

<0. 004

<0. 001

1.0

<0. 08

0.02

<0. 0001

<0. 001

<0. 0002

<0. 0001

<0. 0001

<0. 0001

<0. 0001

<0.01

<0.01

<0.01

<0. 005

<0. 005

<0. 005

99

<0.01

<0. 000001

<0. 000001

<0. 005

<0. 0005

0.5

=
o1 w

7.4

LS

B

LS

0.9

0.9

<0. 5

0.9

0.1

0.1

0.1

0.1
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2 JKIENRR DO KE A
(3] HEEHKE
(1) BELS K OV E A
@ JFUk

£ 7K i A H H28.4.13 | H28.5.16 | H28.6.15 = H28.7.27 | H28.8.24
T U FE VROV ZETOIAREY (mg/L) —|<0.0003 — — —
v 7 vk X E O E W (mg/L) —| <0.0002 — — —
= v F NV EOTE O AEW (mg/L) — <0. 001 — — —
L2- ¥ 7 m v = X v (mg/L) — <0. 0001 — — —
b % = N (mg/L) — <0. 0001 — — —
THENLVEEY (- F L~ F L) (mg/L) — <0.001 — — —
[} i # [i73 (mg/L) — — — — —
Y /7 v w7 kv k= §F1U (mg/L) - - - - -
fa oK 7 o 7 % (mg/L) — — — — —
s 3 el — <0. 001 — — —
bU; i R iy (mg/L) — 3.4 — — —
L,L,1- UV 7 v owmox v (mg/L) —| <0.0001 — — —
A F ) —t-7 F )= — 7 )L (MTBE) (mg/L) — <0.0001 — — —
B O ® E (T O N ) 1 1 1 1 1
Bat (7 v 7 U 7 %) — -1.5 — — —
e & * 1% #H (fi# /mL) 840 1, 400 1, 300 690 2, 000
L,1- ¥ Z/ mw wmu = F L v (mg/L) — <0. 0001 — — —
73 kS e IF fig (MPN/100mL) — 0 — — —
A bk ¥ B E E KR (mg/L) — — — — —
b 17 i3 F (mg/L) — — — — —
v - V% v EX (MPN/L) 0 3 3 2 35
i Bt P ER il (MPN/L) — 300 — — —
X W . (MPN/100mL) 22 150 580 410 1, 600
# OO M il P EK (MPN/100mL) — 29 — — —
7 v ® = 7 & = # (mg/L) — <0. 02 — — <0. 02
v v v v A (mg/L) — 15 — — —
~ 7 B v % WA (mg/L) — 3.3 — — —
fifi 1z A n NZ (mg/L) — 22 — — 13
U N o A X v A ORRRE (mg/L) — — — — —
o 7 b b ) E (mg/L) — 31 — — —
5 = = g R (mS/m) 12.8 14.0 13.7 14. 6 10. 6
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H29. 3. 21

25

H28.9. 14

H28.10. 19

H28.11. 14

H28.12. 19

H29. 1. 16

H29. 2. 13

<0. 0003

<0. 0002

<0.001

<0. 0001

<0. 0001

<0.001

<0. 001

3.4

<0. 0001

<0. 0001

1

-1.5

900

<0. 0001

12.3

13.1

14.6

10.6

12.7
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2 KGR DO KEHRAE
(3] HEVENKSG
(1) B R Ol E AL

O JFK

£ 7K i A H H28.5. 16 £ 7K A A H H28.5. 16
,3- v > Juwwn7° " wa’ v (DD (mg/L)| <0.0002 F A 7 7 F — K~ A F ) (mg/L)| <0.0001
2,2-DPAC % T K v ) (mg/L)| <0.0002 F A& X v v 7 (mg/L)| <0.0001
2,4-D(2, 4-PA) (mg/L)| <0.0001 > v 7 J v 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k ) 7 = =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 v v & v (DEP) (mg/L)| <0.00005
7 D o 7 2 (mg/L)|  <0.0001 YU Y 7 5 Y — b (mg/L)| <0.0001
7 + 4 ES — L (mg/L)| <0.00005 kv 7 v Z U v (mg/L)| <0.0001
7 k 7 v > (mg/L)| <0.0001 + -7 = 2% 2 F (mg/L)[ <0.0001
7 = =t * 2 (mg/L)| <0.00001 =4 ~ =4 N A (mg/L)| <0.00001
7 3 N 7 2 (mg/L)| <0.00005 v5 Y % v 7 = v (ng/L)] <0.00001
7 7 v = — L (mg/L)|  <0.0001 I x— k(T L— k) (mg/L)| <0.0001
A4 Y % ¥ F A4 v (mg/L)| <0.00005 vy ¥ 7 = v F A v (mg/L)]| <0.00001
A4 v 7 = v & A (mg/L)| <0.00001 v U 7 F H A 7 (mg/L)]| <0.0001
A4 Y ZF v A o 7 (MIPC) (mg/L)| <0.0001 =4 = * =t > (mg/L)| <0.0001
A Y 7 v F F F o (APT) (mg/L)| <0.0001 7 4 - = = /v (mg/L) [<0. 000005
4 7 v X v & A (IBP) (mg/L)| <0.0001 7 = = b+ v F F > MEP) (mg/L)| <0.0001
A4 v ¥ 2 7 7 v (mg/L)| <0.00005 7 = J 7 J v 7 (BPMCO) (mg/L)| <0.0001
= ZX 7 v H N 7 (mg/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = ¥ & Z (EDDP) (mg/L)| <0.00005 7 = v k = — I (PAP) (mg/L)| <0.00005
= N 7 = v F u v 7 Z (mg/L)| <0.0001 7 = v b 7 H I K (mg/L)| <0.0001
T YT — (= a AV —) (mg/L)| <0.00001 7 VA 7 4 K (mg/L)| <0.0001
T RANLT 7 (R ) (mg/L)|  <0.0001 7 v 7 = — LV (mg/L)[ <0.0001
4+ ¥ ¥ ¥ 7 v A A v (mg/L)| <0.0001 7 v 2 Rz 2 (mg/L)| <0.0001
A % ¥ v 4 (% 8 ) (mg/L)| <0.0001 7 7 m 7 = ¥ v (mg/L)| <0.0001
4+ Yy o 2+ v v v (ng/L)| <0.0001 7 JL 7 D 7 2 (mg/L)|  <0.0001
b4 x va ) 2 (mg/L)| <0.00001 7 v F 7 7 v — b (mg/L)| <0.0001
H 7 = v A ~ m — i (mg/L)| <0.00005 - =t D N K > (mg/L)| <0.0001
/B VAN v (NAC) (mg/L)| <0.0001 A = A %+ ) 2 (mg/L)| <0.00001
b/ R S = SV S R (mg/L)| <0.0001 7 v ¥ o 5 v — L (mg/L)| <0.0001
i JL R 7 7 > (mg/L)| <0.00005 - = =4 A N F (mg/L)| <0.0001
¥ J 7 7 2 v  (ACN) (mg/L)| <0.00005 7 =m X F Y — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 7 o = 7 ¥ K (mg/L)| <0.0001
7 3 L =1 >~ (mg/L)| <0.0001 ~ J 2 b (mg/L)| <0.0002
7 mw A w v 7 (mg/L)| <0.0001 ~ N D Vi o > (mg/L)| <0.0001
s v )b = b v 7 = v (CNP) (mg/L)| <0.00001 N v Vv ¥z o\ v (mg/L)] <0.0001
7 w U & A (mg/L)| <0.00001 N v Y 7 = F v 7 (mg/L)| <0.00001
7 m v ¥ v = j, (TPN) (mg/L)| <0.0001 ~ v v ' > (mg/L)| <0.0001
D 7 + P > (mg/L)| <0.00001 N v F 4 A % U v (mg/L)| <0.0001
¥ 7 ) & % (CYAP) (mg/L)| <0.00001 ~ v 7 5 H A 7 (mg/L)| <0.0001
v 7 =i N (DCMU)  (mg/L) [ <0.0001 Ry TINFT Y v (RZ2aYy) (mg/L)] <0.0001
v s m X = 5 OBN) (mg/L)| <0.0001 ~ v 7 L k& — b (mg/L)| <0.0001
Y s m A A % (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — b (mg/L)| <0.00001
VALK b (= FIIF A A ) (mg/L)| €0.00001 ~ 7 F A v (~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = Jb (mg/L)| <0.00005 A a7 wmw v 7 (MCPP) (mg/L)| <0.0001
oo v Rk v 7 7 F v (mg/L)| <0.00005 A v N )V (mg/L)|  <0.0001
v < V4 N (CAT) (mg/L)| <0.00001 A v 7 * D Jb (mg/L)| <0.0001
v A xR U (mg/L)| <0.0001 A F X F £ v (OMTP) (mg/L)| <0.00001
v A k - —  (mg/L)[ <0.0001 A F L X 4 A um r (mg/L)| <0.0001
v A ~ P > (mg/L)| <0.0001 A Kk I /7 A2 b m E ¥ (mg/L)| <0.0001
Y A B~ L — F (mg/L)]| <0.00001 A N Jj 7 v > (mg/L)| <0.0001
vl A 7 P J > (mg/L)| <0.00001 A 7 = F & v b (mg/L)| <0.0001
4 A N =4 > (mg/L)| <0.0001 A A = = Jb (mg/L)| <0.0001
- 7 D% = Jb (mg/L)| <0.0001 £ J =X — h (mg/L)| <0.00005

¥ 7 7 2 (mg/L)| <0.0001

7 7 P4 7 IV 7 (mg/L)] <0.0001
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£ 7K i A H H28.5. 16 £ 7K i A H H28.5. 16
EPN %+ ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A (mg/L)| <0.0001
A4 Y X% ¥ F 4 v F X Y v (mg/L)] <£0.00005 ¥ 4 JL Va 2 F (mg/L)| <0.0001
A4 Y 7 = v K A A F Y v (mg/L)[<0.000005 7 b7 7 e Ak A (CWP) (mg/L)| <0.0001
= v K 2 A 7 = — F (mg/L)| <0.0001 F F 7 = F Y — L (mg/L)]| <0.0001
CNP- 7 N J & (mg/L) [<0. 000001 > 7 7 = ) ¥ K (mg/L)] <0.0001
7 v )b ¥ U R A F F YV v (ng/L)]| <0.00001 U x %9 8y 7 = F b (mg/L)| <0.0001
XA T Y ) v A& F ¥ v (mg/L)| €0.00001 KU 7 o I Y — b (mg/L)| <0.0001
Z =, F F A F Y (mg/L)]| <0.00005 > 7 v 7 = F (mg/L)| <0.0001
MPP 2 L R F ¥ F (mg/L)| <0.00005 = 7 N = 7 2 (mg/L)| <0.0001
MPP 2 JL 2 > (mg/L)| <0.00005 X 7 v 7 b Z Y — b (mg/L)| <0.0001
MPP * x v > (mg/L)| <0.00005 =4 2 ~ = D% > (mg/L)| <0.0001
MPP & % Y » 2 b & F ¥ F (mg/L)| <0.00005 s Y 2 7 v F o (ng/L)| <0.0001
MPP 4 % Y ¥ Z Jb i v (mg/L)| <0.00005 vy I N vy 7 A F g (mg/L)| <0.0001
7 F I & A F F YV v (mg/L)| <0.0001 YU 2 ks A A F L (mg/L)| <0.0001
7 v ¥ 7 F F F 7 v % (mg/L)| <0.0001 7 7 A b v b (mg/L)| <0.0001
~ 7 F 4 v 4 % v v (mg/L)| <£0.0001 7 v 7 Y KR v 7 (mg/L)| <0.0001
7 w2 = 5 (DcPA) (mg/L)| <0.0001
7y & % I 7 K (mg/L)|  <0.0001 A = 2% R A (mg/L)| <0.00001
A4 2 % 7 v 7 U K (mg/L)| <0.0001 7 v 8 b ¥ v | (BPPS) (mg/L)[ <0.0001
F 7 o F Y — )L (mg/L)| <£0.0001 7 v K F A - (PHO) (mg/L)| <0.0001
=4 Z J =1 N 2 (mg/L)| <0.0001 VA =4 A ~ ) v (mg/L)| <0.0001
7 v A A 7 7 I K (mg/L)| <0.00001 N X A4 F B v T (mg/L)| <0.00005
v = < D2 b (mg/L)| <0.0001 7N ¥ v 2 (mg/L)| <0.00001
~ v b F ¥ Y » (mg/L)| <0.0001 Zi 2 il U K (mg/L)[ <0.0001
Rz a =1 v (mg/L)| <0.0001 £/ 7 v b K A (mg/L)] £0.00001
A 5z m — L (mg/L)| <0.0001 Jj = e = > (mg/L)| <0.0001
7 N5 L -S- A F b (mg/L)| <0.0001 7 Y ¥ v Z2 b v E v (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 A 7 = Y * > (mg/L)| <0.0001
4 F N T 4 F (mg/L)|[ <0.0001 Vi = = ES 7 (mg/L)| <0.0001
A4 ~ Y 2 A 7 v v (mg/L)| <0.0001 v va o =t > (mg/L)| <0.0001
v = @ F v — 3 P (mg/L)]| <0.0001 T = N 7 wuw — J (mg/L)| <0.0001
= F ¥ ¥ 2 N 7 v v (mg/L)| <0.0001 v 7 v K A A F L (mg/L)| <0.0001
= F N v ¥ = F (mg/L)| <0.0001 Nm Ay 7 o\ v A F gL (mg/L)| <0.0001
4+ X Y 7 X A (mg/L)| <0.0001 v 7 = J v 7 A (mg/L)| <0.0001
%+ ¥ A 2 Jb (mg/L)| <0.0001 YU e X ¥ 7 = v (mg/L)]| <0.0001
X ¥ v K v F = F i (mg/L)| <0.0001 7 5 ¥ =z A 7 v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L]| <0.0001 4 JL k 7 = v (mg/L)[ <0.0001
J v 2~ 7 = / ¥ F (mg/L)| <0.0001 ~N R i F (SAP) (mg/L)| <0.0001
J a gL X — )Y A F )L (TCTP) (mg/L)| <0.0001 N v A 7 v v A F )L (mg/L)| <£0.0001
s/ v )b ¥ U K A A F b (mg/L)| <0.0001 N + ¥ JL (mg/L)| <0.0002
Y/ v 7 = v F A » (BCP) (mg/L)| <0.00005 ML ZadkzxrAFALAERY L (mg/L)| <0.0001
D Vi = A DX > (mg/L)| <0.0001
Y 7 v A 7 m v 7 (mg/L)| <0.0001 F x ¥ Y 7 Y v (mg/L)]| <£0.0001
v ) Z 7 v v (mg/L)| <0.0001 7 v A ¥ ¥ = ) (mg/L)| <0.0001
v J va 7 7 > (mg/L)| <0.0001 Uz L-2-7 FF L= F 0 (mg/L)| <0.0001
7 = ) 2 F v — n (mg/L)| <0.0001 = F m 7 = ¥ (NIP) (mg/L)| <0.0001
v 7 o X v X u  » (mg/L)| <0.0001 A = S v > (mg/L)| <0.0001
Y 7 v = F Y — v (mg/L)| <0.0001 2- 7 b ' U x — I (mg/L)] <0.0001
D - = v = Jv (mg/L)| <0.0001
v A @ 4 v — 5 (mg/L)| <0.0001
v R F v E v kK A (mg/L) <0.0001
v 5 7 A 4 7 = v (mg/L)| <0.0001
v v A ¥ ) > (mg/L)| <0.0001
F 7 v o F K (mg/L)| <0.0001
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2 KiESER DOKE R
(3] HEAEKSG
(1) BbF R O E AL

@ K
% 7K F A H H28.4.13  H28.5.16  H28.6.15 @ H28.7.27 H28.8.24
X 22 & & & & &
= iR (‘C) 9.9 20.8 19.9 25.1 27.3
K =) (‘C) 10. 4 15.0 16.8 19.8 19.9
— LIk il (f# /mL) 0 0 0 0 0
X W (MPN/100mL) 0 0 0 0 0
I RKRITUDAERTZONLEDY (mg/L) — <0.0003 — - —
KB K O F o b A& W (mg/L) — | <0.00005 — - —
L v Kk Y E O AW (mg/L) — <0.001 — — —
g K O o b A& W (mg/L) — <0. 001 — - —
t # K X 2 o A W (mg/L) — <0. 001 - — —
A A - N .| (mg/L) — <0. 005 — — —
i fid 1S 5 = % (mg/L) — <0. 004 — — <0. 004
T A A A ROk T v (mg/L) — <0. 001 — — —
HHREEELOCEHMBESE R (mg/L) — 0.71 — — 1.8
7 v F K O ZF 0 b AW (mg/L) — 0.09 — — 0.08
r v F K OE O AW (mg/L) — 0.02 — - -
| % 1k R F# (mg/L) — | <0.0001 - — —
1, 4- v 7 Bs Va NE (mg/L) — <0. 001 — — —
vZA-,2-Y /7 muxF Ly g
o x-1,2-YV 7 mao=F L (mg/L) — | <0.0002 — — —
DA = =4 A 4 NE (mg/L) — <0. 0001 — — -
> N 5 / momrR = F L v (mg/L) — <0. 0001 — - —
Y /7 @ omr x F L v (mg/L) — <0. 0001 — — —
~ N ¥ N (mg/L) — <0. 0001 — — —
ey S 1 (mg/L) — 0. 06 — — 0.08
7 =4 5! i3 P (mg/L) — <0. 002 — — —
Ve = = AR I N (mg/L) —| 0.0009 — — —
% 7 =t o Hilk i3 (mg/L) — <0.002 — — -
Y 7 v ® 7 v oua A K v (mg/L) — <0. 0001 — — —
B e fi (mg/L) — <0. 001 — — —
N AN - Y (mg/L) — 0.0013 — - —
k ) 7 = =S (3 (mg/L) — <0. 002 - — —
7 v £ Y 7 v ona A KX v (mg/L) — 0. 0004 — - —
- = £ A JL A (mg/L) — | <0.0001 — — —
A v AN 7 A F B K (mg/L) — <0. 002 — — —
WO k™ o A W (mg/L) — <0. 005 - - —
TNI=U AR ZEDONLEY (mg/L) — 0. 01 — — —
% K O F o A B (mg/L) - <0. 01 — — <0. 01
il K O F o v & W (mg/L) — 0. 01 — — —
T PV T AEVYEZEOLAEYW (mg/L) — 6.7 — — —
~ v v kO E O E WY (mg/L) — <0. 005 — — <0. 005
5oy 1k L) 4 7+ N (mg/L) — 2.9 — — 2.4
HIT T L, SR N () (mg/L) — 52 — — 38
7 7% 123 B L (mg/L) — 100 — — —
b2 4 4 v K om & A (mg/L) — 0. 01 — — —
¥ = %+ s 3 N (mg/L) — 1 <0.000001 — — —
2- X F L A4 VRV F — b (mg/L) — 1 <0.000001 — — —
¥ A4 A v K om E M A (mg/L) — <0. 005 — — —
7 - ) — JL ¥ (mg/L) — | <0.0005 — — —
F (2 H KR E (T0C) O & (mg/L) 0.4 0.4 0.6 0.5 0.6
p H 1B 7.6 7.5 7.5 7.6 7.5
R BEpaL | BERL ) OBERL HELL | BERL
L) £ el | REeL  RERL O REARL | REARL
£, i3 i3 <0.5 <0.5 0.6 <0.5 0.6
& B () <0.1 <0.1 <0.1 €0.1 <0.1
7% B H # (mg/L) 0.6 0.7 0.7 0.9 1.0
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H28.9. 14

H29. 1. 16

H29. 2. 13

H29. 3. 21

(55}

i

551

21.8

>

7.2

27.3

19.8

4.
3

©

6.5

19.9

(e

(e

<0. 0003

<0. 00005

<0. 001

<0.001

<0.001

<0. 005

<0. 004

<0. 001

1.0

<0. 08

0.02

<0. 0001

<0. 001

<0. 0002

<0. 0001

<0. 0001

<0. 0001

<0. 0001

<0. 06

<0. 06

<0. 002

0. 0009

<0. 002

<0. 0001

<0.001

0.0013

<0. 002

0. 0004

<0. 0001

<0. 002

<0. 005

<0.01

<0.01

<0.01

6.7

<0. 005

3.0

46

100

<0.01

<0. 000001

<0. 000001

<0. 005

<0. 0005

0.4

i

|

\
4

oo T Clono

Alolw & ~|o

0.1

0.1

1.0

1.0
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2

AKIBE MR D A E Fr A
(3] HEAEKSG
(1) BbF R O E AL

@ oK
% 7K 4 A H H28.4.13 | H28.5.16 | H28.6.15 H28.7.27 | H28.8.24
7Ty F 'R DE DO EW (mg/L) — | <0.0003 — — —
7 7 v K N E O AW (mg/L) — | <0.0002 - — —
= v XV KE O EF o0 AEWY (mg/L) — <0. 001 - — —
L2- ¥ 7 m v = X v (mg/L) — <0. 0001 — — —
~ L == Vg (mg/L) — <0. 0001 — — —
THENLVEEY (- F L~ F L) (mg/L) — <0. 001 — — —
i) e # fi% (mg/L) — <0. 06 — — —
Y 7/ mnu 7 ¥ b= KU (mg/L) — <0.001 — — —
W ok 7 = 7 - (mg/L) — <0. 001 — - —
2 ¥ el — <0. 001 — — —
il i iR [0 (mg/L) — 2.6 — — —
LL,1- 8V 7 v = 2 v (mg/L) — <0.0001 — — —
A F )L —-t- 7 F )L = — F L (MIBE) (mg/L) —<0.0001 — — —
B 5 #® E (T O N ) ¢! ¢! ¢l <1 <1
BaEt (7 47 U 7 4 %) — -1.3 — — —
e & g = Al (f# /mL) 780 2 1 1 1
L,1- ¥ Z/ mw wmu = F L v (mg/L) — <0. 0001 — — —
23 = Pk i il (MPN/100mL) — — — — —
£ Wb B E kK E (mg/L) — — — — —
e 17 fi% B (mg/L) — - — - -
7 e Ju D E3 (MPN/L) — — — — —
I X s 3 il (MPN/L) — 0 — — —
X % A (MPN/100mL) 0 0 0 0 0
#F O M E 8 R (MPN/100mL) — — — — —
7 v ' = 7 B = # (mg/L) — — — — —
v v v v A (mg/L) — 15 — — —
~ 7 ES g 7 A (mg/L) — 3.3 — — -
fift 3 A 7 NG (mg/L) — 22 — — 13
U N u A H v A R RE (mg/L) — — — — —
#® 7 JV 7 Y i3 (mg/L) — 35 — — —
& = i i B (mS/m) 12.9 14. 1 13.9 14.7 10. 8
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H29. 3. 21

AN

25

H28.9. 14

H28.10. 19

H28.11. 14

H28.12. 19

H29. 1. 16

H29. 2. 13

<0. 0003

<0. 0002

<0.001

<0. 0001

<0. 0001

<0.001

<0. 06

<0.001

<0.001

<0. 001

2.6

<0. 0001

<0. 0001

<1

-1.3

66

<0. 0001

12. 4

13.2

14.7

10. 8

12.8
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2 KGR DO KEHRAE
(3] HEVENKSG
(1) B R Ol E AL

@ K

£ 7K i A H H28.5. 16 £ 7K A A H H28.5. 16
,3- v > Juwwn7° " wa’ v (DD (mg/L)| <0.0002 F A 7 7 F — K~ A F ) (mg/L)| <0.0001
2,2-DPAC % T K v ) (mg/L)| <0.0002 F A& X v v 7 (mg/L)| <0.0001
2,4-D(2, 4-PA) (mg/L)| <0.0001 > v 7 J v 7 (MBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 k ) 7 = =4 Jb (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U 7 v v & v (DEP) (mg/L)| <0.00005
7 D o 7 2 (mg/L)|  <0.0001 YU Y 7 5 Y — b (mg/L)| <0.0001
7 + 4 ES — L (mg/L)| <0.00005 kv 7 v Z U v (mg/L)| <0.0001
7 k 7 v > (mg/L)| <0.0001 + -7 = 2% 2 F (mg/L)[ <0.0001
7 = =t * 2 (mg/L)| <0.00001 =4 ~ =4 N A (mg/L)| <0.00001
7 3 N 7 2 (mg/L)| <0.00005 v5 Y % v 7 = v (ng/L)] <0.00001
7 7 v = — L (mg/L)|  <0.0001 I x— k(T L— k) (mg/L)| <0.0001
A4 Y % ¥ F A4 v (mg/L)| <0.00005 vy ¥ 7 = v F A v (mg/L)]| <0.00001
A4 v 7 = v & A (mg/L)| <0.00001 v U 7 F H A 7 (mg/L)]| <0.0001
A4 Y ZF v A o 7 (MIPC) (mg/L)| <0.0001 =4 = * =t > (mg/L)| <0.0001
A Y 7 v F F F o (APT) (mg/L)| <0.0001 7 4 - = = /v (mg/L) [<0. 000005
4 7 v X v & A (IBP) (mg/L)| <0.0001 7 = = b+ v F F > MEP) (mg/L)| <0.0001
A4 v ¥ 2 7 7 v (mg/L)| <0.00005 7 = J 7 J v 7 (BPMCO) (mg/L)| <0.0001
= ZX 7 v H N 7 (mg/L)| <0.0001 7 = v F F v PP) (mg/L)| <0.00005
= ¥ 4 7 = ¥ & Z (EDDP) (mg/L)| <0.00005 7 = v k = — I (PAP) (mg/L)| <0.00005
= N 7 = v F u v 7 Z (mg/L)| <0.0001 7 = v b 7 H I K (mg/L)| <0.0001
T YT — (= a AV —) (mg/L)| <0.00001 7 VA 7 4 K (mg/L)| <0.0001
T RANLT 7 (R ) (mg/L)|  <0.0001 7 v 7 = — LV (mg/L)[ <0.0001
4+ ¥ ¥ ¥ 7 v A A v (mg/L)| <0.0001 7 v 2 Rz 2 (mg/L)| <0.0001
A % ¥ v 4 (% 8 ) (mg/L)| <0.0001 7 7 m 7 = ¥ v (mg/L)| <0.0001
4+ Yy o 2+ v v v (ng/L)| <0.0001 7 JL 7 D 7 2 (mg/L)|  <0.0001
b4 x va ) 2 (mg/L)| <0.00001 7 v F 7 7 v — b (mg/L)| <0.0001
H 7 = v A ~ m — i (mg/L)| <0.00005 - =t D N K > (mg/L)| <0.0001
/B VAN v (NAC) (mg/L)| <0.0001 A = A %+ ) 2 (mg/L)| <0.00001
b/ R S = SV S R (mg/L)| <0.0001 7 v ¥ o 5 v — L (mg/L)| <0.0001
i JL R 7 7 > (mg/L)| <0.00005 - = =4 A N F (mg/L)| <0.0001
¥ J 7 7 2 v  (ACN) (mg/L)| <0.00005 7 =m X F Y — L (mg/L)| <0.0001
* ¥ 7 v > (mg/L)| <0.0001 7 o = 7 ¥ K (mg/L)| <0.0001
7 3 L =1 >~ (mg/L)| <0.0001 ~ J 2 b (mg/L)| <0.0002
7 mw A w v 7 (mg/L)| <0.0001 ~ N D Vi o > (mg/L)| <0.0001
s v )b = b v 7 = v (CNP) (mg/L)| <0.00001 N v Vv ¥z o\ v (mg/L)] <0.0001
7 w U & A (mg/L)| <0.00001 N v Y 7 = F v 7 (mg/L)| <0.00001
7 m v ¥ v = j, (TPN) (mg/L)| <0.0001 ~ v v ' > (mg/L)| <0.0001
D 7 + P > (mg/L)| <0.00001 N v F 4 A % U v (mg/L)| <0.0001
¥ 7 ) & % (CYAP) (mg/L)| <0.00001 ~ v 7 5 H A 7 (mg/L)| <0.0001
v 7 =i N (DCMU)  (mg/L) [ <0.0001 Ry TINFT Y v (RZ2aYy) (mg/L)] <0.0001
v s m X = 5 OBN) (mg/L)| <0.0001 ~ v 7 L k& — b (mg/L)| <0.0001
Y s m A A % (DDVP) (mg/L)| <0.00005 A A F 7 ¥ — b (mg/L)| <0.00001
VALK b (= FIIF A A ) (mg/L)| €0.00001 ~ 7 F A v (~ F Y v ) (mg/L)| <0.0001
v ¥ %+ = Jb (mg/L)| <0.00005 A a7 wmw v 7 (MCPP) (mg/L)| <0.0001
oo v Rk v 7 7 F v (mg/L)| <0.00005 A v N )V (mg/L)|  <0.0001
v < V4 N (CAT) (mg/L)| <0.00001 A v 7 * D Jb (mg/L)| <0.0001
v A xR U (mg/L)| <0.0001 A F X F £ v (OMTP) (mg/L)| <0.00001
v A k - —  (mg/L)[ <0.0001 A F L X 4 A um r (mg/L)| <0.0001
v A ~ P > (mg/L)| <0.0001 A Kk I /7 A2 b m E ¥ (mg/L)| <0.0001
Y A B~ L — F (mg/L)]| <0.00001 A N Jj 7 v > (mg/L)| <0.0001
vl A 7 P J > (mg/L)| <0.00001 A 7 = F & v b (mg/L)| <0.0001
4 A N =4 > (mg/L)| <0.0001 A A = = Jb (mg/L)| <0.0001
- 7 D% = Jb (mg/L)| <0.0001 £ J =X — h (mg/L)| <0.00005

¥ 7 7 2 (mg/L)| <0.0001

7 7 P4 7 IV 7 (mg/L)] <0.0001
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£ 7K i A H H28.5. 16 £ 7K i A H H28.5. 16
EPN %+ ¥ 4 > (mg/L)| <0.00001 F T A % ¥ A (mg/L)| <0.0001
A4 Y X% ¥ F 4 v F X Y v (mg/L)] <£0.00005 ¥ 4 JL Va 2 F (mg/L)| <0.0001
A4 Y 7 = v K A A F Y v (mg/L)[<0.000005 7 b7 7 e Ak A (CWP) (mg/L)| <0.0001
= v K 2 A 7 = — F (mg/L)| <0.0001 F F 7 = F Y — L (mg/L)]| <0.0001
CNP- 7 N J & (mg/L) [<0. 000001 > 7 7 = ) ¥ K (mg/L)] <0.0001
7 v )b ¥ U R A F F YV v (ng/L)]| <0.00001 U x %9 8y 7 = F b (mg/L)| <0.0001
XA T Y ) v A& F ¥ v (mg/L)| €0.00001 KU 7 o I Y — b (mg/L)| <0.0001
Z =, F F A F Y (mg/L)]| <0.00005 > 7 v 7 = F (mg/L)| <0.0001
MPP 2 L R F ¥ F (mg/L)| <0.00005 = 7 N = 7 2 (mg/L)| <0.0001
MPP 2 JL 2 > (mg/L)| <0.00005 X 7 v 7 b Z Y — b (mg/L)| <0.0001
MPP * x v > (mg/L)| <0.00005 =4 2 ~ = D% > (mg/L)| <0.0001
MPP & % Y » 2 b & F ¥ F (mg/L)| <0.00005 s Y 2 7 v F o (ng/L)| <0.0001
MPP 4 % Y ¥ Z Jb i v (mg/L)| <0.00005 vy I N vy 7 A F g (mg/L)| <0.0001
7 F I & A F F YV v (mg/L)| <0.0001 YU 2 ks A A F L (mg/L)| <0.0001
7 v ¥ 7 F F F 7 v % (mg/L)| <0.0001 7 7 A b v b (mg/L)| <0.0001
~ 7 F 4 v 4 % v v (mg/L)| <£0.0001 7 v 7 Y KR v 7 (mg/L)| <0.0001
7 w2 = 5 (DcPA) (mg/L)| <0.0001
7y & % I 7 K (mg/L)|  <0.0001 A = 2% R A (mg/L)| <0.00001
A4 2 % 7 v 7 U K (mg/L)| <0.0001 7 v 8 b ¥ v | (BPPS) (mg/L)[ <0.0001
F 7 o F Y — )L (mg/L)| <£0.0001 7 v K F A - (PHO) (mg/L)| <0.0001
=4 Z J =1 N 2 (mg/L)| <0.0001 VA =4 A ~ ) v (mg/L)| <0.0001
7 v A A 7 7 I K (mg/L)| <0.00001 N X A4 F B v T (mg/L)| <0.00005
v = < D2 b (mg/L)| <0.0001 7N ¥ v 2 (mg/L)| <0.00001
~ v b F ¥ Y » (mg/L)| <0.0001 Zi 2 il U K (mg/L)[ <0.0001
Rz a =1 v (mg/L)| <0.0001 £/ 7 v b K A (mg/L)] £0.00001
A 5z m — L (mg/L)| <0.0001 Jj = e = > (mg/L)| <0.0001
7 N5 L -S- A F b (mg/L)| <0.0001 7 Y ¥ v Z2 b v E v (mg/L)| <0.0001
7 A bk ) > (mg/L)| <0.0001 A 7 = Y * > (mg/L)| <0.0001
4 F N T 4 F (mg/L)|[ <0.0001 Vi = = ES 7 (mg/L)| <0.0001
A4 ~ Y 2 A 7 v v (mg/L)| <0.0001 v va o =t > (mg/L)| <0.0001
v = @ F v — 3 P (mg/L)]| <0.0001 T = N 7 wuw — J (mg/L)| <0.0001
= F ¥ ¥ 2 N 7 v v (mg/L)| <0.0001 v 7 v K A A F L (mg/L)| <0.0001
= F N v ¥ = F (mg/L)| <0.0001 Nm Ay 7 o\ v A F gL (mg/L)| <0.0001
4+ X Y 7 X A (mg/L)| <0.0001 v 7 = J v 7 A (mg/L)| <0.0001
%+ ¥ A 2 Jb (mg/L)| <0.0001 YU e X ¥ 7 = v (mg/L)]| <0.0001
X ¥ v K v F = F i (mg/L)| <0.0001 7 5 ¥ =z A 7 v (mg/L)| <0.0001
s v F 7 = ¥ v (mg/L]| <0.0001 4 JL k 7 = v (mg/L)[ <0.0001
J v 2~ 7 = / ¥ F (mg/L)| <0.0001 ~N R i F (SAP) (mg/L)| <0.0001
J a gL X — )Y A F )L (TCTP) (mg/L)| <0.0001 N v A 7 v v A F )L (mg/L)| <£0.0001
s/ v )b ¥ U K A A F b (mg/L)| <0.0001 N + ¥ JL (mg/L)| <0.0002
Y/ v 7 = v F A » (BCP) (mg/L)| <0.00005 ML ZadkzxrAFALAERY L (mg/L)| <0.0001
D Vi = A DX > (mg/L)| <0.0001
Y 7 v A 7 m v 7 (mg/L)| <0.0001 F x ¥ Y 7 Y v (mg/L)]| <£0.0001
v ) Z 7 v v (mg/L)| <0.0001 7 v A ¥ ¥ = ) (mg/L)| <0.0001
v J va 7 7 > (mg/L)| <0.0001 Uz L-2-7 FF L= F 0 (mg/L)| <0.0001
7 = ) 2 F v — n (mg/L)| <0.0001 = F m 7 = ¥ (NIP) (mg/L)| <0.0001
v 7 o X v X u  » (mg/L)| <0.0001 A = S v > (mg/L)| <0.0001
Y 7 v = F Y — v (mg/L)| <0.0001 2- 7 b ' U x — I (mg/L)] <0.0001
D - = v = Jv (mg/L)| <0.0001
v A @ 4 v — 5 (mg/L)| <0.0001
v R F v E v kK A (mg/L) <0.0001
v 5 7 A 4 7 = v (mg/L)| <0.0001
v v A ¥ ) > (mg/L)| <0.0001
F 7 v o F K (mg/L)| <0.0001
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